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CLASSROOM ACTIVITY 2.4B

1. a. Ifxrepresents the first of two consecutive integers, write an expression
representing the second integer.

vt

b. If x represents the first of two consecutive even integers, write an expression
representing the second integer.
X A+ A

[e]

If x represents the first of three consecutive odd integers, write expressions

representing the second and the third integers.

P&l XY
e P 4
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L Untitled
solve for the indicated variable:

i) solve poasbic for a
72.) solve A=bh for b

3.)s0lve @ = x/2 + y/2 for y

y.) solve 4x- 3y = 12 for x

cﬁ)The perimeter of a rectangular garden 1is 24 ft. The Tength is 2 ft more than the
width. Find the length and width of the garden.

The largest angle in_a triangle is three times the smallest angle. The middle angle
6 is two times the smallest angle. Given that the sum of angles in a triangle is 180
degrees find the measure of each.
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For Exercises 4 —7:
a. Find the x-intercept (if it exists)
b. Find the y-intercept (if it exists)
c. Find another point on the line.
d. Plot the points and sketch the line.

5o 2
§

S SN 7
‘ )

ENE

P e 7 7o
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CLASSROOM ACTIVITY 3.3C

1. The graph below depicts the amount of money that Americans spent per year on
prescription drugs above what was covered by insurance. Data are given between

the years 2000 to 2006.

Yearly Amount Paid per American on
Perscription Drugs Not Covered by
Insurance

300
250
200
150
100

50

Dollars

2000 2002 2004 2006
Year

a. Ifthe dollar amount is approximated by a linear trend, compute the slope of
the line.

b. Interpret the meaning of the slope in the context of the number of dollars

and years.
hS1 e te
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